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20239 & 20l 4t

o1 E 20288% M- NZE A4S 2 SIHEZ SA IHEE = A= A2 S 20 EEREED
2 = M - HIZE0AHES 2 Al X2 B o
g A 1,305, 000,000 39, 150,000
2 eS| 1,182,500,000 35,475,000
SE3H 122,500,000 3,675,000
SIIESE3A 56,800,000 1,704,000
A=C I3 LSE 35,900,000 1,077,000
St==BIILSE3 20,900,000 627,000
JIEtSE3l 65,700,000 1,971,000
L SESA 6,639,000 199,170
2S0II=EE3 A 3,141,000 94,230
FUASAAL LSS AIHSE 640,000 19,200
FEEAMESE A 370,000 11,100
X=AtHSE 3 22,500,000 675,000
FAESE 4,825,000 144,750
CHAI2 & SE3 286,000 8,580
LA AST A I EE 3| A 20,253,000 607,590
HIIS M2 AEMESE S A 6,592,000 197,760
AN XML ESE S A 400,000 12,000
BEAFHI LGN RAAMSEE 3 54,000 1,620

H o2 Hg-HE a2 SHE "ML - S ola" 0 20
M 3 & MRRGAAANL2 €8 "HRRHAAZA"2t 20T
M4 &= HSHIAMEE2 €8 "HSHIANE A" 20
M5 & FAMOIEAME2 €8 "HAOEMBEAN"2} 2.
M6 = LBl Oididl= 20,786,036 222 8L,
(L BoilHIHl 10,000,000 &, THoH - TS 0iiHIHl 10,786,035& &)
o7 2 EsH & SE3A(S01e EE30 L&) NSNS EHE 59,200,000 A2 LY.
M8 & XNYMEH M47z22 Mg SARE0 et D= 28/01 L8 bl X S 2HUHA 2 220 JUs EH
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